ITEM DESCRIPTION MATERIAL QTY )L
1 |GROUND BALL STUD 30MM COPPER C110-ETP 1 ::% L
2 |SET SCREW 5/8-11 X 2,5" LENGTH STAINLESS STEEL ] N
3 |5/8" FLAT WASHER STAINLESS STEEL 1 W&
4 |5/8" LOCK WASHER STAINLESS STEEL 1 S |m
5 |5/8-11 HEX. NUT STAINLESS STEEL 1 o

>3
. 4,375
/’:':/
I
¥
@ 30mm
NUMERO | NUMERO ®)
DEPIECE | PRODUIT

F611471 |HC-30012 -

F613916 |HC-30012:0,5 | 0,50
F611472 |HC-30012-1 1,00
F611473 |HC-30012-1,5 | 1,50
F611474 |HC-30012-2 2,00
F611475 |HC-30012-2,5 | 2,50
F615769 |HC-30012-2,75| 2,75
F611476 |HC-30012-3 3,00
F615569 |HC-30012-3,5 | 3,50
F615312 |HC-30012-4 4,00
F615350 |HC-30012-7 7,00
F613684 |HC-30012-9 9,00

DESCRIPTION PROJECT NUMBER PART NUMBER
T s e macLean  |"ONTFIXES0MM - Ao

s e e P POWER 012X

iy e T e 225 o, Ot () ot 122 1of ] HC-30012

Canada, 225 Ford, Chateauguay (Québec), Canada, J6J 422

Tel. (450) 698-0520 Fax: (450) 692-5670




	PAGE 1
	Vue de mise en plan1
	Vue de mise en plan2


